| Efficiency vs Dxy |
.02
X

<N S T S S A S S
L R e S
< S R R R T T T
e e

LT o o e
Forgf oo
ook b
=
000

eff

T2 0 0 e e o e e o
0002

:IIII.IIII.IIII.IIIIiIII*iIIII.IIII.IIII.IIII.IIII
LU : : , ; ; ; ; ,
o+RF
© C
m l__ .......................................................................
0.95 - ---vhemmeer il

0 E50-15-10 =50 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_TT_base
[ Efficiency vs Dz | |—s— DQM_mkFit_TT_retrain_noCandDNN

—+— DQM_mkFit_TT retrain
_50.02 . : ; ;

>

S E : : :
- C H a . B H
§ s fdal

---------- LT S S

10 2030
TP dz (cm)



	Contents
	Page 1


